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10301
Problem Set #3
Grading Guidelines
Michelle Wu

4.6 15 points total
+2  Writing dy/dx = v/u
+3  Finding dy/dx = -2xy/(x* - ')
+5  Finding when flow is parallel to the y-axis, y=4- %
+5  Finding when flow is stationary
48 20 points total
part (a) 10 points
part (b} 10 points
423 15 points total
part {a) 10 points
part (5) 5 points
445 15 points total
4.55 20 points total

part (g) 10 points
-2 Mot shown that du/dx is equal to zero

-5 Mot shown that at =0, v=0 the fluid sticks to the plate
part (b) 10 points
-3 Assumed the area was A = hb instead of setting up the
integral. Velocity varies as a function of x, thus you need:

Q= ]bv{x}dx

-1 Incorrect limits for the integral Q
5.14 15 points total
Many people assumed that the ratio of the inflow of water and oil is 1:1, and thus
the inflow rate of oil must equal the inflow rate of water, This assumption leads
to the same answer, but generally, this is not the case and one point was deducted
if no mathematical justifications were made in support of this.



